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Passage 1

How do you learn English? Or French,Russian,German
or any other language? Most people go to classes regularly,
and study at home with a book. But the problem for adult
- learners is that they are busy people who find it hard to
come to classes at a fixed time. They miss a few classes and
then decide that they have fallen- too far behind the other
students. Eventually they drop out of the class altogether.

The Polytechnic (T. % % #) of the South Bank in
Loondon had this problem, but has now found a solution.
There are no pre-arranged classes. The students come when
they have time. This is ideal for businessmen,or anyone who
has a busy timetable.

There are various resources available which the
students can- use alone or in a small group. There is a
language laboratory. There are microcomputers with-games
and other programmes designed for language leafning; there
are videocassettes which teach stuednts about the life and
language of a country; and there are individual tutorials (3§
). A tutorial gives students a chance to talk to a teacher
on a one-to-one basis. Danielle, a French woman studying
English, says: “For me the most important thing is a
tutorial , because I can explain everything I don’t understand

to the teacher and he can correct my pronunciation. ”



At present there are few colleges which offer students
the chance to study in this way, but the system is so popular

that in future there may be many colleges who will try it.

. B ,
Comprehensions : -
1. Aéc_’or;iing to the authot, :the trouble jf_or; adult
learners is that he; A .
A) finds it hard t6 have a regular timetable
_ B) finds it ;hérd to-keep up with other students,
k&) often misses the classes, :
» D) has to drop-ouit the class eventually
2. How does the Polytechnic of-the South Bank solve
the problem?
A) Tt.provides fixed time classes. ;
B) It provides a very good language laboratory.
3 \@) Students may.come to their classes when they

= are free.”

D) It doesn’t give any tests. ==+ 5

3. Which of the following resources ismot:mentioned in

' the passage? - : Ty e e
g w?).. Radio programmes .: « . ) .
B) A.language laboratory. B

i - C)» Compiters and videocassettes it
.+ D) Tutors . . - ) ‘ . i
bt 4. Individudl tutérials mean A A R

" A) a private instructions to one: pupil » .3t



B) brief and exact explanations
C) public instructions
() correction of one’s pronunciation
5. The author’s purpose of writing' this passage is
!2‘ . .
A) to start a discussion of how to learn a foreign
language .
(B to praise the Polytechnic of thé South Band
C) to criticize the old way of learning a language

D) to recommend a new way of learning a language



Passage 2 - Y

Have you ever noticed advertisements (I~ which say

“Learn a foreign language in 6 weeks, or your money back!

From thé fitst day your pronunciation will be excellent. Just A

seen--+” and so-on? Of course; it never happens quite like

that. The only language ‘that is easy to learn is the mother
tongue. And think how much practice that gets! Before the

Second World War people usually learnt a foreign language

in order to read the literature of the country. Now speaking
the foreign language is what most people want. Every year
many millions of people start learning one. How do they do
it?

Some people try at home, with books and records or
tapes ; some use radio or television programmes ; others go to
evening classes. A few people try to learn a language fast by
studying for 6 or more hours a day. ft is clearly easier to
learn the language in the country where it is spoken.
However, most people cannot afford this, and for many it is
not necessary. They need the language in order to do their
work better. For example, scientists and doctors chiefly need
to be able to read books and reports in the foreign language.
Whether the language is learnt quickly or slowly,- it is hard
work. Machines and good books will help, but they cannot

do the student’s work for him.
4 ' ' .



9.
Sb’y.ﬂa?

Comprehensions :

1. The advertisement says it would be easy .
A) to speak your own language better
B> to pay nothing to learn a foreign language
(0)) t(.) learn a foreign language fast
D) to spend a lot of money on learning a language
9. Which of the following is not mentioned in the
passage?1)
A) In the past people learn a foreign language to
read the literature of the country.
¢B) Now most people learn a foreign language in
order to speak the language. .
C) Some people study a foreign language to read
books and reports in the language.
D) In order to go abroad many people want to study
foreign languages.

3. Most people need to study a foreign language because
they '
A) want to go abroad
B) read the story books in the original
\&) havea desire to do the work well
D) report in the foreign language

4. In the first paragraph “the mother tongue” means °

A) the mother sound



. B) the mother talk
C)’I the mother language
.@) the native language
5. The main purpose of this passage is

A) to describe a course

B) to advertise a course

C). to announce a lecture .

D) to argue that learning a. foreign llangu_age is not

easy work ' '

AR



Passage 3 AR

English is the native or offical [anguage of one-fifth of
the land area of the world. It is spoken in North America,
Great Britain, Australia, and New Zealand. In South Africa
and India it is one of the official languages. '

More people study English than any other language. In
many couAntries , the textbooks in universities are in English.
Many university classes are taught in English even though
the native language is not English.

English is the language of international (between
nations) communication. It is the language of international
business, research, and science. More than three-fourths of
the world’s mail is written in English. More than three-fifths
of the world’s radio stations use English. More than half of
the scientific and research journals are in English. Most
other languages have borrowed many English words.

Why did English become the international language? In
the middle of the nineteenth century, French was the
international language. Then Britain became very powerful
in the world. England started colonies in North America and
India in the seventeenth century. By 1900 England also had
colonies in other parts of Asia, Africa and the South Pacific.
The people in the colonies had to use English. Slowly it

became more important than French internationally. After

7



the Secon'd World War, the United States became very
powerful, and even more people began to learn Enélish

Is English a good international language? It has more
words than any other language The grammar _is slmpler
than in the othet - Tajor languages However,English spelhng
is difficult. Foreigners all have trouble spelling English. So
do native speakers! ’ '

Since 1880, people have invented -over fifty artificial (not
natural ) languages. No one speaks them as a native
language. However, none of them has ever become popular.
Some people don’t want o study English, but it is the

international language. There is no way to change that now.

Comprehensions ; :

1. English is the native language of
' A) south Africa - . L .
B) Australia - )
C) all of Canada
D) Malaysia
2. More thin , of the world’s radio stations are
4 in English. S , . *
A) 20% . .o
B) 60% . |
C) 80% :
D) 40% . - t ‘-
3. England started a colony in India in the

4
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